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C-PROGRAMMING
freitfe T Vasier | :  perfirn s 30
‘ Time allowed : V2 Hour] [Maximum Marks : 30

- Wr: (i) e st Eod vedw el dEEd
‘ Note : All Questions are compulsory and each question is of 1 mark.
f (ii) 2 v F arerc B w1 fafr F st spEm e &

Only English version is valid in case of difference in both the languages.

1. o | I. ‘C’languageisa
(@) T W AN | (a) High level language
(o) P wim s - () Low level language
(c) Wqﬁﬁﬂ R (c) High &Low level language .
| (d) YN T | (d) Machine lahguage

2, W msEmEEY e
: 2. ‘C’ language uses

(a) T H (8 Compiler

() TR ®) Interpreter
, (€) (a)7r (b) I () Both (a) and (b)
| @ wHIWEH . (d) None of these

) ' P.T.O.
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3.

P i v o S dwr €2

(@ efes

b)) W
(c) AW
(d) Soiw wet

<« ot F fr F ¥ B9 W el
e :

‘(8 auto

(b) default
(c¢) extern

(d) function

Pt 3 9 o R S b 7
@ ?:

b)) *

(c) sizeof

@ »

TE 11 A 13 1 AISTYE 0 W00 2
(@ 15

(b) 6

© 9

@ v wE

)

2027

Which of the following are tokens in
C language ?

(a) Keywords
(b)  Variables

(c) Constants

.(d) All of the above

Wthh of the following is not a
keyword in C language ?

(a) auto
(b) default
() extem
(s3] function

Which of the followmg is a ternary
operator 7.

(a) _?-: ‘

® *

(c) sizeof
@

What will be the output of the
expression 11213 ?

(a) 153

(b) 6

© 9

(d) None of these
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7. &P o Fsizeof w1 A ?
(a) IR
b) wag

{c) @uA@)ER

(d) =\

wmﬁﬁﬁﬁﬁmm o
AR

(a). (type)

(b} cast

) #

(d) sizeof

NI H IR AT RS
mﬁnﬁ#ﬂamwmm
o8 S

@ gets()
(b) scanf()

(¢) (a) 7 (o) ¥FF
d) -} wg

A} & gy w § o Pere B
¥ forg Pt F ¥ B9 @ wem w1 3T
Prrromn k2

(a) getchar()

(b)) geteh()

(c) getche() R
@ ®T)

3

10.

2027
What is sizeof in C language ?
(a) Operator
(b) Keyword
(© Both (a) and (b)

(d). . Function

Which of the following is type cast
operator in C language ?

(a) (type)
(b) cast

© N

(d) sizeof _

Which of the following function is
used to read a line of text from
keyboard ?

(@) gets()

(b) scanf() |
(c) both(a)and (b)
(d) None of these

Which of the following function is
used to read a character immediately
as you type ? .

(a) getchar()
(b)y getch()
(c) getche()
(d) Both (b) and (c)
'P.T.O.
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11.

12.

13.

14.

TR R F RTINS
fore fr & @ @ 9 vl FERT =
T femar swEr & 2

(@ %I |
b %W
© %l

d %f

PRt ¥ & W wle s
L

(8 goto
® if...
(¢) switch
() while

else

T wo & svEm B 9 At T
T G IR G Ay

(a) int

(b} char

(¢) float

(@ (a)m (b) T

P 7 @ fewd ey T w1 9w
i fear o W & 2

(@ for

(b) while

(© switch

(d) do... while

@

11.

12.

13.

14,

2027

Which of the following format
specifier is used to print the value of
double type variable ?

@ %If
b) %W
© %h
d %f

Which of the following is not a
Branching control statement ? '

(a) goto

(b) if...else
(©) switch
(d) while

Data type of selection expression
used in switch statement can be

(a) int

(b) char

(c) float

(d) both (a) and (b)

In which, of following continue
statement cannot be used ?

(a) for
(b) while

(c) switch

' (d) do...while
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15.

16.

17.

- 18

e § | B W SR TR TRY
¥ '
(@ W

(b) wRE
(c) 9T

@) &

oy s 3 W R () R T
dt

(@ -1®
® 1%
© 0%
@ TRIWERAWIAR

P 1 @ @ T g 2R W &
w0 § IvET fer e & ?

(a \0 |

b

) \

@ wHIwET

T WA W (YR A ey
TE?

| (a) int

(b) char
(¢) wvoid

@ TR

P

5
15.

16,

17.

18,

2027
Which of followmg is not a derived

. datatype?

(a) Array

(b) Function

(c) Pointer

(d) Structure

An array index (subscript) in C
language always start at

@ -~

®) 1
) 0
(d) Value provided liy user

Which of the following is u.qed as a
string termination character 7

(a) | \0

®) ‘a

© ‘

(d) None of these

By default a function returns a value
of type _
(@) int
(b) char
(c) void
@ None of these

- P.T.0.
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19.

20.

21.

22,

G BT W W TR R e
A O ¥ |

(a) T g
(b) T AR
() fewiee smvpig
(d) 99 3w

¥

- (a) auto

(b)‘ extern
(©) static
(d) ST ot

Wsﬁmaﬁaﬁamtm%
(a) Py dmm

(b)) e v

(c) orC Rt et
(d) T A B

dr o A P A} P w e i

LB

(a) strepy()
(b) streat( )
(c) strmov()

. (d) stremp()

ﬁwi’r#iﬁam‘ﬂhwwm

(6)

19.

20.

21.

22,

Ty
s

B 2027

Arguments used in function call
statement are |

(a) Formal arguments
(b) Actual arguments
(c) Default arguments
(d) None of these -

Which of the following are storage
class types ? '

{(a) auto

(b) extern

. (¢) static

(d) Allthe above

A function c;ll itself is called
(a) Recu;si\}e function

(b) Library function

(c) User defined function
(d) None of these '_ |

Which of the following is not a string
function in € language ?

(@) * strepy()
(b) strcat()
(¢) strmov()

(d) strcmp()
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.23,

23.

26.

e B &

(2) V&R I=TW

(b) ¥ TRT TN

(c) FneE §feor wwer e
d) vt m i

't&’mﬁa‘iﬂzf,&ﬁm%

(a) Bitwise AND operator

() Address of Operator
©  (a) e (b) S

(d) ot} A

fro § ¥ W A hR T B 9
W @ A w7

(a) malloc()
(b) calloc()
© ()7 (b) T
d) W

mim**ﬁ;ﬁpﬂi"}'

~ (a) pisa pointer to pointer

(b) - p is not pointer
(c) pis long
(@ w5

LS

4

23.

25,

26,

Pointers are of
€Y
(b)
(c) Unsigned integer data type
@ |

Integer data type

Character data type
None of these

In C language operator & is -
(a) Bitwise AND operator
(b) Addfess of Operator |

©)
(d)

Both (a) and (b)

None of these

Which of the following function
allocates memory dynamically ?

- (a) malloc()

(b) calloc()
(¢) Both (a) and (b)

' (d) None of these

What is p in, int ** p ; statement ?

(a) pis a pointer to pointer
0)
(c) pislong

p is not pointer

(d) None of these

P-T.O.
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27.

28.

29.

30.

e vt esroRtert Y st o B 7
union sample {

int n; char ¢; float x; };

(a) 79

(b) 43

(c) 29

@ 1 e

&= wer & gt T wE S e

A & fu b amr § fewer swEm
e 7

(@) T

NORE Gk

) ®
(d) (a) @@ (b) BT

Pt 3 & W o R e T

&2 "
(a) &
(b)

(c) TINS IR IRW
(d) SyuE At

o e SR (o) 67 ST Pt T

¥

(@ ®

(b) TWFX

(c) U=

(d). o & wig et

@)

27.

28.

29.

30.

2027

What will be the size of following
union declaration 7

union sample {

int n; char c; float x; };
(a) 7Bytes

(b) 4 Bytes

(c) 2 Bytes

(d) 1Bytes

Which is used to store different type
of related data values in C language ?

(a) Structure

(®) Union

(c) Array
(@ Both (a) and (b)

Which of the following is user
defined data type ?

(a) Structure

(b) Union

(c) Enumerated data type-
(d) All the above

In which’dot operator () is used ?
(a) Array

() Structure

(c) Pointer

(d) -None of these

»
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C-PROGRAMMING
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T (i) Hewwer aFard & wed @ At ol & sor iR |
Note : ~ Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) T A & et i A O e e o | '
Solve all parts of a question. consecutively together,
(iii) Fe% W i 73 g & gRET HTg |
Start each question on a fresh page.
(iv) o et & s e = Rafr o st sga dt me

Only English version is valid in case of difference in both the languages.

. G weewde
‘What are Keywords 7
(ii) e o e |
Write the advantages of pointer.
(iii) TR 3R PR F e = AT
What is the difference between structure and union ?
iv) % e w1 IR E 7 |
 What is the use of break statement ?

v) TREREE? | |
' What is global variable ? - _ (2x5)
® . P.T.O.
» 'Y
A ;
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(ii)

¢}

(ii)

®

CHIWPL210MP210/MRIIOPR210 Coan T 20
2. () C v o fadtwanat mr vl i | '
' Write the features of ‘C’ language.
(i) C ¥ T B AR A T SR ¥ FER TNy |
Explain the main data types used in ‘C’ language. _ ‘ - (6+6)
3. () Qv Pk & o ooy 3 e Rores e |

What is array ? Explain the declaration and memory representaﬁon of one
dimensional array,
feare Rz % FamRor ik T |

~ Explain switch statement with example. ' (6+6)

‘C’ W % e T % WPR THRRT |
Explain the storage classes types of ‘C’ language
ﬁ%’ﬂ‘ -} T Iﬁﬁﬂq :
Differentiate the following :
(a) while 99T do-while /9 _
while and do-while loop
(b) calloc( ) 7T malioe( ) _
calloc( ) and malloc() I (6, 3x2)

Fr=ffiga C' vimr @l wr sEege ffe
Write output of the following ‘C’ program segment :

(a) #include<stdio.h> -

void main( )

{ .

int a=10, b=5;

if (a<h)

{ |
if(b>5)
printf(“%d”,b);
}
else _
pﬁnﬁ(“%d’!’a);

y _
\‘L ~
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(ii)

- 6. ()

(i)

7. °0)

(b) #include <stdio.h>
void main( )
{
int oy
Cimtx=10,y= 15;
n=(x<y) 7 (y+x):(y-x)
printf(“%d”,n)
} o
(c) #include <stdio.h>
void main( )
{ int m[2};
int *p =m;
m[0] = 100;
m{1] = 200;
printf(“%d %d”, ++*P, *P);

) |
Prfrierer o o s 5 T
Explamthe working of following functions :
(a) getchar()

(®) gets()
(¢) getch()

maﬂmaﬁrﬁqvﬂﬁ%maﬁmﬁmﬁmﬁﬂm}

Write a program to swap two integets using function.

o & 7 0 o who e Rei A B TR |

What is Union ? Explain the declaration and memory map of union,

% 3 x 3 = AR W T R A C e W v el
Write a program in ‘C’ language to multiply two 3 x 3 matrix. '

(3, 23)

(6+6)

PQT'O_.
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8.

(i) FPrfatas sdom #t C’ =ww o wfb |
* Convert following expressions into ‘C’ expression :
(@ +a?+b?-2ab cos(x)

a-b

(®) I-a+b tet+y

a a
© B+
b+'€

Write s‘h&n netes on the following :
(@) ufforr sitey e
- Enumerated data type
(i) w T R
Pointer Vs Array
(i) T
Argumeits

2027

(6, 2x3)

(3)

1



